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Az 23BBHS B
HE: YA ABYSH(SHUDY/BT)
Sl HMMEQ 2BFIH L CEEEED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
01 2284 150,000 0 150,000
OHMe6xt 2 2& = = 150,000
401 AIEHI L 20 50,000 0 50,000
01 A& HI 50,000 0 50,000
OMN6X Z3A 2L HE Mefstd JSE I} 50,000
SHSEIZ =8 CHHAIAY 2= 65,000 0 65,000
201 et 37,000 0 37,000
01 At 22l 37,000 0 37,000
OS+==2ANE E22 HM& 37,000
207 A RO H| 28,000 0 28,000
01 289 28,000 0 28,000
OS==EAE AEHZA ¥ 28,000
ZZAEAY =& 20,000 25,000 A5,000
Z2AIE ZEAMY FA 20,000 0 20,000
201 L2l 10,000 0 10,000
01 At 22l 10,000 0 10,000
OZHANE ZLEAME =& 10,000
202 04l 10,000 0 10,000
01 = LH o4 1l 10,000 0 10,000
OZZAE ZHAY = 10,000
ZZHEAE =& 27,388,400 24,035,700 3,352,700
Xl 21,068,000
S 6,320,400
22X e (=2) 6,827,600 2,795,000 4,032,600
Xl 5,252,000
< 1,575,600
403 UHXSHHSA=0l& 6,827,600 2,795,000 4,032,600
Xl 5,252,000
< 1,575,600
01 XM A2E X 6,827,600 2,795,000 4,032,600
O=ZX HY 6,827,600
Xl 5,252,000
< 1,575,600
Sofiord 29 2oL (=2 3,706,300 5,241,600 A 1,535,300
Xl 2,851,000
< 855,300
403 X SHHE A0l & 3,706,300 5,241,600 A 1,535,300
Xl 2,851,000
< 855,300
01 XS M A=2EE 3,706,300 5,241,600 A 1,535,300
Osdiotd 222 3,706,300
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2R
0 0
12
v

LU (SSHUBT/BY)
A =3 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

Al 2,851,000
< 855,300

A L (=21) 8,937,500 5,712,200 3,225,300
Xl 6,875,000
< 2,062,500

403 UHXSHHSA=0l& 8,937,500 5,712,200 3,225,300
X 6,875,000
< 2,062,500

01 HXSHMA=E X 8,937,500 5,712,200 3,225,300
Ot M 8,937,500
Xl 6,875,000
S 2,062,500

MEf=M2AZ A HE(21) 1,969,500 1,563,900 405,600
Xl 1,515,000
< 454,500

403 UtXISHH S A0l & 1,969,500 1,563,900 405,600
Xl 1,515,000
< 454,500

01 XS M A=2EE 1,969,500 1,563,900 405,600
OMEf =22t & 1,969,500
Xl 1,515,000
< 454,500

SRUSH 292HL(=2) 5,947,500 3,965,000 1,982,500
Xl 4,575,000
< 1,372,500

403 A X EHHS =0l A 5,947,500 3,965,000 1,982,500
Xl 4,575,000
< 1,372,500

01 X EHHMA=E L 5,947,500 3,965,000 1,982,500
OZSRUSA 29 22 5,947,500
Xl 4,575,000
< 1,372,500

EdatE 223 g 15,401,500 6,046,000 9,355,500
X 3,550,000
J| 8,025,000
S 3,826,500

[0 AEE XL (=) 1,300,000 650,000 650,000
J| 1,000,000
< 300,000

403 UHXSHHS =0l & 1,300,000 650,000 650,000
J| 1,000,000
< 300,000

01 HXSHMA2E X 1,300,000 650,000 650,000
CELIIVPIEIE-FgF P~ 1,300,000
J| 1,000,000
< 300,000
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AR 2HBBASS SN BRI
MY YA ABYH (2L /BY)
& SdatE 22X e (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
A f4(30) 422,500 0 422,500
J| 325,000
< 97,500
308 AHAIEHHSOIA 162,500 0 162,500
J| 125,000
< 37,500
01 HIXNHHNBHELS 162,500 0 162,500
otz FH= 2 T2 Y 2 162,500
J| 125,000
< 37,500
403 MtXISHHE X201 & 260,000 0 260,000
J| 200,000
< 60,000
01 X SHHA2E = 260,000 0 260,000
otz 42 s NEJIE =4 260,000
J| 200,000
< 60,000
A8 22X HE 270,000 700,000 A 430,000
403 A X EHHS =0l A 270,000 700,000 A 430,000
01 X EHHMA=LE L 270,000 700,000 A 430,000
Ond SLAEUU E= 20,000
Os=ZANE EES &X 50,000
Oztd B2273 22J|g =4 200,000
HERME XN (=12) 5,200,000 1,300,000 3,900,000
J| 4,000,000
< 1,200,000
403 MHXSHHSA=0l& 5,200,000 1,300,000 3,900,000
J| 4,000,000
< 1,200,000
01 HXHHMA=LE X 5,200,000 1,300,000 3,900,000
o4& JHFa0E =4 5,200,000
J| 4,000,000
=) 1,200,000
oHOrAYUA HEZAIH(=21) 4,615,000 1,690,000 2,925,000
N 3,550,000
=) 1,065,000
403 MtXSHHE X0l & 4,615,000 0 4,615,000
Xl 3,550,000
=) 1,065,000
01 AXISHHA=2E = 4,615,000 0 4,615,000
oysdALYSAER2 =4 2,015,000
X 1,550,000
< 465,000
OM HHAILEXN T FHI 2,600,000
Xl 2,000,000




AR 2HBBHSD SN 2YIHDY
HE: YA ABYSH(SHUDY/BT)
& SdatE 22X e (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 600,000
H2XS 22238 (=2) 3,594,000 0 3,594,000
J| 2,700,000
< 894,000
308 AHXIEHHSOIA 338,000 0 338,000
J| 260,000
< 78,000
01 HXNHHNBHNEELS 338,000 0 338,000
OHZEXS 2ZTAZ A 338,000
J| 260,000
< 78,000
401 A& HIZ 201 8] 240,000 0 240,000
J| 120,000
< 120,000
01 A& HI 230,000 0 230,000
OMEf LA =& MEDIEH &4 230,000
J| 120,000
< 110,000
03 Al 2 THHI 10,000 0 10,000
OMEf LA S A XMEDIEH =4 10,000
403 MtXISHHE X201 & 3,016,000 0 3,016,000
J| 2,320,000
< 696,000
01 X SHHA2E = 3,016,000 0 3,016,000
OHZXS 2233 ALY 3,016,000
J| 2,320,000
< 696,000
22X EHdl ¥ 2tel 535,000 543,000 A8,000
22 XAE FHHl ¥ 22 475,000 443,000 32,000
202 (44l 15,000 15,000 0
01 S LHOYI 156,000 15,000 0
OZZIHLAY 8EEE & 2l 15,000
307 gl2tol & 100,000 93,000 7,000
05 Rzt & = 100,000 93,000 7,000
OFHTFIIE2 e 22 100,000
308 XXM SOIA 150,000 150,000 0
01 IXNSHHBNEES 150,000 150,000 0
OZ3 Ya=st&2d &el 29 150,000
401 AIEHI L 201 30,000 0 30,000
01 A& Hl 30,000 0 30,000
OFHTHIIG& NEE> 30,000
403 X SHHSA=0l& 180,000 180,000 0
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M ox
40 5 4
0y Mo

s2gS= SN BB
AT ABASHEHYLBH /BT
X ZHl 2 e

- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
01 HXSHMA2E X 180,000 180,000 0
OBTH 2IME & 243t 180,000
B2 23E 2I 2l 60,000 100,000 A 40,000
308 XXM SOIA 60,000 100,000 A 40,000
02 8+NLF= 60,000 100,000 240,000
OBZBSE YRS 4D 60,000
A=A 23,000 25,000 A 2,000
ALY =& 23,000 25,000 A 2,000
201 Let24d] 8,000 10,000 A 2,000
01 AP 2teltl 8,000 10,000 A 2,000
OSetAY 32 XI& ME = 8,000
202 Odl 15,000 15,000 0
01 = LH 4 Hi 15,000 15,000 0
OBAY =& &5 & BIXIOZ S 15,000
o EJRAE =4 2,795,000 0 2,795,000
Xl 2,150,000
< 645,000
SEAE L JIBAIE ZH(=1) 2,145,000 0 2,145,000
Xl 1,650,000
< 495,000
403 X SHHS =0l & 2,145,000 0 2,145,000
X 1,650,000
= 495,000
01 XM A2E X 2,145,000 0 2,145,000
OXS==ALE L JIBAIE =4 2,145,000
Xl 1,650,000
< 495,000
ZEYY AZIA HY (=) 650,000 0 650,000
Xl 500,000
< 150,000
403 UtXISHH S X201 & 650,000 0 650,000
Xl 500,000
< 150,000
01 AXSHMA2E = 650,000 0 650,000
ONZEYZ &I A N 650,000
Xl 500,000
< 150,000
2ZAE SINE R UXNRX = 5,000 0 5,000
2ZAE PRI =X 5,000 0 5,000
202 04l 5,000 0 5,000
01 = LH 4 HI 5,000 0 5,000
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